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A= SHSSIEHAAH SAN S AITHA
FH: SANHY 245 L NA(ELANGHL/NSLE A
CHl: S AITHA XI& A )
= - — SHE]|
MR 2N FB-BA(E) - MRAY - BAS e bl D=2t
01 = LH 4 bl 3,600 3,600 0
OZANHY AIZ=E(E2)
100,000& » 3H * 123 3,600
SATHA HE (M) =8 200,000 0 200,000
401 Al& Bl & 28I 200,000 0 200,000
01 A& Hl 200,000 0 200,000
OZAIHA HE(Met) =8
200,000,000 * 14 200,000
HE2AZHI (S AITHA D) (J1EHDIEL) 24,900 27,100 A 2,200
Jl2Zl 24,900 27,100 A 2,200
Jl2ztl 24,900 27,100 A 2,200
201 Let2d] 16,300 18,500 A 2,200
01 At 22l 16,300 18,500 A 2,200
Ogt=&H| 7,320
cHFARESHI 200,000& * 53| 1,000
oHHEHH 225 P 300,000& « 123l 3,600
o2 T AFALI 200,000& 43 800
SHEBR=EE 20,0003 = 88 = 123l 1,920
Oogxtz 360
o¥J| Xt 30,000& * 12& 360
O= &l 7,560
oJllZgR=; A
7,000 * 6Y * 152 « 123 7,560
OJIE =&Hl 1,060,000 * 14 1,060
202 oddl 5,600 5,600 0
01 S LHOIYI 5,600 5,600 0
OJl=g® =& ol 5,600,000& = 14 5,600
203 ¥ S =&l 3,000 3,000 0
04 ENSSHRF=EHI 3,000 3,000 0
ORN2EYRFA 250,000 = 12& 3,000




